
1 

CHENGDU HONELINKS INNOVATION TECHNOLOGY CO.,LTD.  
 501 Kechuang Road, Jinjiang District, Chengdu City, Sichuan Province 

TEL：86-028-86661062 Whatsapp/Cell:86-15196637014   
 

 

             Wall Mount Data Cabinet 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 



2 

CHENGDU HONELINKS INNOVATION TECHNOLOGY CO.,LTD.  
 501 Kechuang Road, Jinjiang District, Chengdu City, Sichuan Province 

TEL：86-028-86661062 Whatsapp/Cell:86-15196637014   
 

 

PARTS IDENTIFICATION 
 

 

 

1 8 
4 

7 

C 6 
B 

10 9 

5 
E 

F 
D 

2 4 
3 A 



3 

CHENGDU HONELINKS INNOVATION TECHNOLOGY CO.,LTD.  
 501 Kechuang Road, Jinjiang District, Chengdu City, Sichuan Province 

TEL：86-028-86661062 Whatsapp/Cell:86-15196637014   
 

 

CABINET INSTALLATION 

5 
6 

2 A 
A 

1. Top Panel x1 A: M5 Screws x40 
2. Bottom Panel x1 B: M6 Hex Head Screws x15 
3. Front Door x1 C: M6 Cage Nuts x15 
4. Side Panels x2 D: Side Panel Latches x4 
5. Left Frame x1 E: Side Panel Lock Kitx2 x2 
6. Right Frame x1 F: Front Door Lock Kit x1 
7. Rear panel x1 G: M10 Expansion screws x4 
8. Rear suspension x1 H:hex brass nut for screw bolt x1 
9. Vertical Mounting Rails 
10 . Pallet 

x4 
x1 

I:expansion bolts x4 

 
 
 

 
 



4 

CHENGDU HONELINKS INNOVATION TECHNOLOGY CO.,LTD.  
 501 Kechuang Road, Jinjiang District, Chengdu City, Sichuan Province 

TEL：86-028-86661062 Whatsapp/Cell:86-15196637014   
 

 

A 

9 

9 

1: Insert the Left Frame (#5) and the Right Frame (#6) into the Bottom 
Panel (#2), Secure with M5 Screws (A) . 

 

1 A 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2: Place the Top Panel (#1) onto the Front Frame (#5) and the Back 
Frame (#6). Secure with M5 
Screws(A) . 

3: Install the 4 Vertical Mounting Rails (#9) into place at the desired depth 
using M5 Screws(A)for each Vertical Mounting Rails (#9). 
Note: Please consider the equipment you plan to install within the 



5 

CHENGDU HONELINKS INNOVATION TECHNOLOGY CO.,LTD.  
 501 Kechuang Road, Jinjiang District, Chengdu City, Sichuan Province 

TEL：86-028-86661062 Whatsapp/Cell:86-15196637014   
 

 

C 

B 

10 

C 

5 

D E 

4 

enclosure while deciding the appropriate mounting depth. Make sure the 
rail depth on both sides of the cabinet is the same. 

4: Install the Pallet (#10) into place at the desired height ,Secure with M6 
Hex Head Screws (B) and M6 Cage Nuts (C). 

 
 

 
5: Install the Side Panel Latches ( D) and the Side Panel Locks ( E) on the 
two Side Panels (#4). 
6: Install the two Side Panels (#4) into place using the Side Panel Latch- 
es. Once each Side Panel (#4) is in place, check to see whether the Side 
Panel Lock locks properly. 



6 

CHENGDU HONELINKS INNOVATION TECHNOLOGY CO.,LTD.  
 501 Kechuang Road, Jinjiang District, Chengdu City, Sichuan Province 

TEL：86-028-86661062 Whatsapp/Cell:86-15196637014   
 

 

8 

A 

A 

7 

 

  
7: Install the Front Door Lock (F) on the Front Door (#3). 
8: Position the Front Door (#3) so that the top and bottom pins are aligned 
with the hinge hole located in the enclosure. Insert the bottom fixed pin 
into the bottom hinge hole. Pull the top spring pin down into the hole in the 
top corner and release it. 

 

9: Install the Rear panel ( 7) and the Rear suspension ( 8) ,Secure with 
M5 Screws(A) . 

3 
3 

F 



7 

CHENGDU HONELINKS INNOVATION TECHNOLOGY CO.,LTD.  
 501 Kechuang Road, Jinjiang District, Chengdu City, Sichuan Province 

TEL：86-028-86661062 Whatsapp/Cell:86-15196637014   
 

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1: Attach the rack to a wall or other suitable mounting surface using M10 
Expansion screws(G). The mounting hole distance is shown in Fig, apart 
to accommodate standard stud placement as reflected in the diagram. 

 
Warning: Do not attempt to mount to wall when equipment is mount- 
ed inside the enclosure. The enclosure has a weight capacity of 100 
pounds. Make sure the type of wall structure and mounting hardware 
that you are using will properly support the weight of the enclosure 
and equipment 

WALL MOUNTING THE ENCLOSURE 

70 330 70 

400 

33
0 


